cT (cm) | YieldinBin A YieldinBinB  Yield in BinC  Yield in Bin D
10 517 £0.10 494 +0.10 2.65 +0.08 2.52 +£0.07
50 3.27 £0.06 7.61 £0.09 1.357+0.037  0.579 = 0.024
100 2.56 =0.05 5.88 +0.08 1.978 =0.045  0.930 = 0.031

200 1.90 = 0.06 4.84 +0.10 2.35 +=0.07 1.017 £ 0.046
400 1.081 £ 0.048 3.38 £0.08 2.08 £0.07 0.808 £ 0.041
600 0.875 £ 0.042 2.66 +0.07 1.72 £0.06 0.659 + 0.037
800 0.744 £ 0.039 2.23 £0.07 1.53 £0.06 0.521 £ 0.033
1000 0.539 £ 0.034 1.87 £0.06 1.31 £0.05 0.440 £ 0.030
1200 0.497 £ 0.032 1.77 £0.06 1.158 +=0.049  0.382 +0.029
10000 0.131 =£0.018  0.452+0.032 0.152+0.019 0.084 = 0.014




